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Unit 1

Part A

There are ten items in Part A. For each item in this part, you will bear a short statement.
The statement will be spoken only once. - When you have heard a statement, read the four sug-
gcsted answers marked A, B, C, and D. Then, according to your understanding of the main
language function that appears in the item, decide which ONE is the best answer.

Function: Possibility

Example:
You will hear;
It’ s likely that Peter will leave for Sw:tzerland to see hlS brother.
The suggested answers:
(A) Peter will go to Switzerland to see his brother.
(B) Peter likes his brother very much. 7
(8] Perhaps Peter will go to see his brother in Switzerland.
: (D) Peter will leave for Swuzerland like his brother.
The best answer: {C)

1 A.May I see that can, please?
B. 1 think I will fail my exam.
C. I don’t see where the exam grades are posted .
D. I might be able to find a story for him. - : ' \

2 A.This project will be cancelled as a result of mismanagement of funds.
~ ‘B. They probably made an error in figuring the expenses for this project.
C. They must give a complete report on the estimated costs of this project.
D. They have to charge the calculations to the company office. -




A. It was likely that they‘ were having trouble reaching a decision.
B. They agreed to meet for fifteen minutes miore. '
C. They came to a decision in the final fifteen minutes.

‘D. They were able to make a decision quickly.

A. John likes to visit Yellowstone Park regularly.

B. John will probably visit Yellowstone Park next summer.

C. John encouraged his friends to visit Yellowstone Park next summer.-
D. John described his last visit to Yellowstone Park.

A. 1t was impossible for George to get enough exercise.
B. The exercises weren 't very difficult for'George; *

C. George didn 't like physical exercise vefy much.

D. George never missed exercise class. -

‘A. John must exhaust the runner. .

- B. John was probably very tired after runhing.
C. The run made John sleepy. .

D. John must run after the thief.

A. Henry will want my notes tomorrow.
B.Ican’t imagine how Hénry will do it.
C. Perhaps Henry‘will want my notes:
D.I-don’t think Henry has a good imagination.
A. Mr. and Mrs. Collins are living in separate homes.
B. Mr. Collins is away from home on business now.
C. Mrs. Collins said she is waiting for her husband to return from a business trip.

" D. Mr. and Mrs. Collins became separated in the large crowd. R

A. We should meet once to discuss possible thesis tbpics.
B. If possible, we should all meet for the discussions.

C. We should meet at once, if it s possible.

D. We should meet each week to talk about your thesis.

A. She is probably eating lunch with Linda.
B. She has to make lunch for Linda. ‘
C. She must go to see Linda before lunch.

2 .
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D. She left her lunch at Linda’s.

Part B

In Part B you will hear twelve short conversations between two speakers. At the end of
each conversation, a question will be asked about- what was said. The conversation and the
question will be spoken only once. After you hear a conversation and the question about it,
read the four possible answers. Then, according to your understanding of the main language
function that appears in the 1tem decide which ONE is the best answer.

Function: Suggestion

Example:

You will hear: _ _
W: I can’t decide whether to buy a new car or try to find a secdnd—hand one.
M_: If you buy a new one, you'll probably save money in the long run. -
Q: What does the man suggest to the woman?

The possible answers: ,
(A) To save her money for a long time.
(B) To buy a new car.
(C) To purchase a used car.

- (D) Togeta second car.
The best answer: (B)

1 A. She knows where it is.
B. She wants to go to the park.
C. She suggests that he should get help in finding the way.
D. She thinks he doesn 't see the map very well.

2 A.The man.
B. She herself.
C. The two of them together.
~ D. The store’s gift—wrapping department.
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D. Pay for the repairs.

A. Try a new ribbon.
B. Help her type the paper.
C. Get another typewriter.
D. Change the paper.

A. Gi.ve her a light.

B. Turn on the heat.
C..Call her that night.
D. Practise bird calls.

A. She doesn’t want to ask Mr. Jones herself. -

B. She doesn’t want to work for Mr. Jones.
C. Mr. Jones may have broken the radio.
D. Mr. Jones might fix the radio. "

A. Ask about the high cost for repairs.
B. Take the car to the garage in the future.
C. Fix the car in the future. ~

-

A. Wait in the building.
B. Leave the gate open.

- C. Give up on Fred.

D. Stay outside longer. -

A. Buying a new typewriter.

B. Finding a new plag:e for the typewriter.
C. Finding a better typist.

D. Questioning the typist.

A. Quitting work early.

B. Making a doctor’s appointment.
C. Going to the drugstore.

D. Trying to lose weight.

A.. She suggests they check in the catalog.
B. She’s not sure where the catalog is.

-4. .
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C. She doesn’t know if there is such a subject.
D. She has found this subject in the catalog.

11  A.He advises the woman to leave in 30 minutes.
B. He thinks the woman will meet Harry at the bus.
- C. He proposes the woman to get to the bus stop quickly.
D. He asks the woman to check to see if everything is ready.

12 A She thinks they don’t have to go to the concert.
B. She proposes to go to the concert by subway.
C. Shie believes that the man’s brother should let them use the car.
D. She thinks a car wouldn’t be any faster.

PartC C .

In this part you will hear one short passage. The passage will be read only once. It will
not be written out for you, so you will have to listen carefully in order to understand and re-
member what the speaker says. After the passage, you will be asked to finish the following ex-
ercises.

THE UNITED STATES

I. Choose the correct answer to each sentence.
1 The United Stateshas ___ states.

A. fifteen ' : - B.fifty i
C. five D. fifty—five

2 The largest state ___ is California. ,
A. in population B. in the United States
C. in size |  D.in the world

3 ___ isthe largest city in America. , |
A. New York . B. Washington
C. San Francisco _ D. Seattle

4 The oldest states are the ones ____ .




A. along the Atlantic coast B. in the middle of America
C. by the Great Lakes D. near the Pacific Ocean

II. Complete the sentences with what you hear on the tape.
1 Alaskais the largest in , the in population.
2 The ___ - states are California and Florida.
3 Los Angeles and San Francisco are
4 Eachyear ___ people visit New York.
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Unit 2

Part A

{ "

There are ten items in Part A. For each item in this part, you will hear a short statement.
The statement will be spoken only once. When you have heard a statement, read the four sug-
gested answers marked A, B, C, and D. Then, according to your understanding of the main
language function that appears in the 1tem, decide which ONE is the best answer.

Function: Wishing, Wanting and Expec_ting

Example:
You will hear:
Bill wants to trade his bzg car for a smaller model.
The suggested answers
(A) He would like to have a smaller car.
(B) He would like to trade his small car.’
(C) He will trade his car for a bigger one.
(D) He will Vno‘t trade his car.
The best answer: (A)

1 A. That university has two counselors.
B. The counselor talked to the students.
C. That university is famous. . _
D. The counselor advised the students to go to that university.

£

2 A.He has great success in his business.

B. He has no wish to be rich.
C. He hopes for success.
D. He_ doesn’t want to meet with success.
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A. Chemistry is interesting.
B. Mary is not interesting. |
C. Chemistry is not interesting.

‘D. Mary is interested in chemistry.

A. The sisters expected dresses as Christmas gifts.

B. The sisters wore beautiful clothes on Christmas day.

C. The sisters looked around the house for their clothes.

D. On Christmas Day, the sisters got dressed quite early.
A. Her operation is on Sunday.

B. They planned to go to the opera soon.

C. She was heavily sedated. '

D. They wished her a quick recovery.

A. She brings it.
B. She doesn’t bring it.
C. She brought it.

'D. She didn’t bring it.

A. She won’t go to the grocery store.
B. She doesn’t want any groceries.

C. She wants to buy more groceries.

D. She wants to buy no more groceries.

A. He doesn’ t want his employees to work on Saturdays. |

B. He hopes that his employees will work on Saturdays.

C. He has no wish to let his employees work on Saturdays.

D. He will wark on Satuydays himself.

A. The teachers speak French very well.

B. Susan doesn’t speak French very well.

C. The teachers do not speak French very well.
D. Susan speaks French very well.

A. My father wanted to go.

B. Jim didn’t want to go.

C. My father wanted me to go.
8 . .
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D. Jim wanted to go.

Part B

In Part B you will hear twelve short conversations between two speakers. At the end of
each conversation, a question will be asked about what was said. The conversation and the
question will be spoken only once. After you hear a conversation and the question about it,
read the four possible answers. Then, according to your understanding of the main language
function that appears in the item, decide which ONE is the best answer.

Function: Cause and Eﬂ ect

Example. ; .
You will hear: | | )
M The International Students’ Association is having a party Saturday night. Can you come?
W: I wish I could, but I work at the hospital on weekends.
Q: Why can’t the woman go to the party?
The possible answers:
(A) Because she is sick. :
5 (B) Because she has to go to the International Students’ Association.
(C) Because she has to work.
(D) Because she does not want to go.
The best answer: (C)

1 A. She had to fly out of town. -
B. She’s sick. |
C. She said that she’d come later.
D. She decided to stay home.

2 A.Hehas arranged to take the exam next year.
B. He is pleased, since the woman offered to help him.
' C. He has reason to be happy, despite the exam.
D. He actually did very well in the exam.
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A. The jackets and pants do not match.
B. It is the wrong color for the season.
C. It is too light for cold weather.

D. It does not match his shirt.

A. The woman is getting another job.
B. The woman is disappointed at not getting the job.

- C.The woman s boss is letting her have a better job.
D. The woman’s job is much better than she had expected.

A. Because the couple has such an old car.

B. Because she hasn’t seen them for a long time.
C. Because she is easily surprised. '
D. Because the couple has a new car.

A.Toomuch rain.

B. He didn 't like to eat with his hands.
C. Dirty food on his corn. ‘

D. He hates hamburgers and corn.

A. It comes by mail.

B. It arrives earlier than at the newsstand.

C. Going to the newsstand is inconvenient.
D. It’s much cheaper than at the newsstand.

A. The upper branches were too high for the woman.
B. The lower branches didn’t have any green apples.
C. The apples on the top branches weren 't ripe.

D. In one week, there would be more apples.

A. She’s afraid of going out at night.

B. She had to do some baking.

C. She wanted to get ready for a plane trip.
D. She was moving to a new apartment,

A. The faod is good.
B. It will be cheap and they can sit outside.

- 10.




